This report contains the transfers results.

Contest Name	Ward 8 - Mid Formartine
Valid Votes	5,046
Positions to be Filled	4
Quota	1,010

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Andrew John HASSAN	Scottish Liberal Democrats	752
Kenny HUTCHISON	Scottish National Party (SNP)	728
Paul JOHNSTON	Independent	916
Jenny NICOL	Scottish National Party (SNP)	971
Sheila POWELL	Scottish Conservative and Unionist	803
Derek RITCHIE	Scottish Conservative and Unionist	876
	Total	5,046

This report contains the transfers results.

Stage 2 - Exclusion of Kenny HUTCHISON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew John HASSAN	30	1.00000	30.00000
Transfer to Paul JOHNSTON	43	1.00000	43.00000
Transfer to Jenny NICOL	626	1.00000	626.00000
Transfer to Sheila POWELL	6	1.00000	6.00000
Transfer to Derek RITCHIE	3	1.00000	3.00000
No further preference	20	1.00000	20.00000
Not transferred due to rounding			0.00000
	Total		728.00000

This report contains the transfers results.

Stage 3 - Surplus of Jenny NICOL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew John HASSAN	414	0.36756	152.16984
Transfer to Paul JOHNSTON	469	0.36756	172.38564
Transfer to Sheila POWELL	49	0.36756	18.01044
Transfer to Derek RITCHIE	50	0.36756	18.37800
No further preference	615	0.36756	226.04940
Not transferred due to rounding			0.00668
	Total		587.00000

This report contains the transfers results.

Stage 4 - Surplus of Paul JOHNSTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew John HASSAN	520	0.10728	55.78560
Transfer to Sheila POWELL	92	0.10728	9.86976
Transfer to Derek RITCHIE	116	0.10728	12.44448
Transfer to Andrew John HASSAN	246	0.03943	9.69978
Transfer to Sheila POWELL	11	0.03943	0.43373
Transfer to Derek RITCHIE	7	0.03943	0.27601
No further preference	231	0.10728	24.78168
No further preference	205	0.03943	8.08315
Not transferred due to rounding			0.01145
	Total		121.38564

This report contains the transfers results.

Stage 5 - Exclusion of Sheila POWELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew John HASSAN	45	1.00000	45.00000
Transfer to Derek RITCHIE	720	1.00000	720.00000
Transfer to Andrew John HASSAN	4	0.36756	1.47024
Transfer to Derek RITCHIE	28	0.36756	10.29168
Transfer to Andrew John HASSAN	12	0.10728	1.28736
Transfer to Derek RITCHIE	70	0.10728	7.50960
Transfer to Andrew John HASSAN	4	0.03943	0.15772
Transfer to Derek RITCHIE	5	0.03943	0.19715
No further preference	44	1.00000	44.00000
No further preference	17	0.36756	6.24852
No further preference	10	0.10728	1.07280
No further preference	2	0.03943	0.07886
Not transferred due to rounding			0.00000
	Total		837.31393